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PART - 111
greurellweo / BOTANY
(50D wHNID pHidHe eufl / Tamil & English Version )

B 2jama] : 3.00 wanfl Cryw ] [ Qurss wHibueamrger : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Sdleyenraet : (1) @arss odamssesd afwurs LHard 2 GTaTET raTUgsamen sflUMsgis
Qsrererayib. FsILSeND GopulmLIae D SameTentlLmerilLiD
2 L anquwinsd GgMeildsayb.
2 Beod deg smUY @wulamear LLHGL aWEHMSHEGL LLaTLOSS
Cauam@. ULESE auamraush@h, 2Ags&GsmyBeusn@n Cueaéld
Lwer(HSSeLD. :

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@l - 1/ PART -1
Gdliy : () Slmensg) lamsa@EnsEn efanwellEseab. 15x1=15

(i) Gar@ésuu(Barar prenE wrpn elarseld Wsab gHyemLw
sl emwsd Coibbshsgs GG efenulanarid Csirgg)
GT(LHSELD.

Note : (i) Answer all the questions,

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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(=) GaipCs6559 _ _
(@) 2P psLUESSISD () s@uiar aifluib |
from outside and acclimatising them to local environment

o
A3

~4//|_rrﬂ|_orﬂsm_sm @ amig sreflen GApuLLD
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Importing better varieties and plants

is called :

(b) Cloning

(a) Selection
(d) Heterosis

(c) Introduction

P LLelsD, & Genenriijen i L& HSLIEHL
GalrsamasE sTsHWInTe (psauli 6Tg ?

(@) awan@ser  (T)ATHD
satile anther. The

X areyib sreurld SPw W, &6
QareT(HeTeTs. @mmsmﬂsm D& HSE

(=) Ll Lmby&s <) Bir
A plant called ‘X’ possesses small flower with reduced perianth and ver

probable agent for pollination would be :

(b) water (c) beetles (d) air

(a) butterfly

Ti Germevl erpg Lmseflugdla sram L Eng ?
(<27 )2, THCrmUTSL T Gig L6

(<) Fr Gamened

(@) Cuildasn SiamwCeoredlsbLGuslueame

(7 21&Crmumsle fluib gyl GuEwenen -

The bacteria, which possess Ti plasmid is :

(a) Arthrobacter luteus

(b) E. coli

(c) Bacillus amyloliquefaciens

(d) Agrobacterium tumifaciens

(s257 p2p Mg Qaitiupamau LGS

(<=1) Qe =Glofsasm, Sifev
(rF) Oseneafibdlur, Lo omsT

(@) @pSHwr wHid

Tamarindus indica is indigenous to :
(a) South Ainerica, Greece (b) Tropical African region

(c). India alone (d) South India, Sri Lanka
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A 8o soLs600 (Qrevi Nssan Aprdsafienmd DNA -eflén Aeamaimd ThS S
warler @& (Urelwrem Grmib) Qg iauflansuien amwwugHe erellgrs
e &g ?
(=2() B’ GAATTC 3 3 CTTAAG 5 (<@,) 5 CGTTCG 3 3 ATCGTA 5’
(@) 5 CACGTA 3 3 CTCAGT &' () 5 GATATG3 3 CTACTAY
Which one of the following palindromic base sequence in DN can be easily cut at about the
middle by some particular restriction enzymes ?

(a) 5 GAATTIC3 3 CTTAAGS5 (b) 5 CGTTCG3 3 ATCGTA 5
() 5 CACGTA3 3 CTCAGTS (d) 5 GATATG3 3 CTACTA %

Q - uSw 2 @fledmba - (HeUTETgD, G}J@Tfrésa;uul;ngmrrsur @Cr grafluw

L= Mg &a0 gy (<) penrar FLenLeum

(&) glwur Guouliev ~ (F) 1Al g&sD 6revigeid

The only cereal that has originated and domesticated from the New World.
(@) Triticum duram (b) Oryza sativa

(c) Zea mays (d) Triticum aestivum

MEUTED DD STCUTTEIEET - @mhsl e (HeurssLLHEenar.
(=1) yGrm_ GLmlerrs eueriii) (<) 2 mliy eueriiiL

(8) Qs Wsemeu aueriiiyy ) Loy s@sda aeritiy

Virus free plants are developed from :

(a) Protoplast culture (b) Organ culture

(c) Cell Suspension culture (d) Meristem culture

p “Coiblasem eri@urpgib swliLuliserms GmiLddeame’” T SaHm CTHEL 6T
Qgm_ryenLwg ? : '
(#7 sefsgs ARz a9 () pig 98
(8) Gowudens smeypse o8 (7)) srndenm eskiEs a4
“Gametes are never hybrid”. This statement is associated with the

(a) Law of segregation (b) Law of dominance

(c) Law of random fertilization (d) Law of independent assortment

\Mgrreuu'réjaﬂ'ﬂm @aflECaersanssa@ wL_[HGW uuéﬂu®§guu®m G gafl erey :

(<=1) 3 - 10% (<) 2 - 8% (@) 2-9% ey 2-10%
Solar energy used by green plants for photosynthesis is only :
(@) 3-10% (b) 2-8% () 2-9% (d) 2-10%
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ﬂ' oriss wamafien B ST msEnsen LwauGAng ?
. IEPEGW'I'L_

(<) yeRuiioiy B

(2 bysimieonp B () Gaufuduid> Aevamriiy b

(@) mus b

?
Which one of the following soil water is available for plants

(a) Caplllary Water
(c) Hygroscopic Water

i quied - g Lt iquisd - I 2L GLTGEEE.

UL iquiev - I
(1) QoweussiLdn @6 Q@ (i)
&GIGLICaTbaeT 2Fswrs srariubas)
2 @owyusgiLear em GErTCLIGETD (i)

S Sfls0rs sraliL@eus)

B) @mwigusded gm GCrmTCLorGerd - (i)

Gepeuns srenriL(heug

@) @owqusddnbs Qrand sealsseal (iv)

CrrCurGernd @Gmneurns &meunTidI(heug
J)—(") @-(iid), B)-(i), (4)-() JJ .
(<) (D-0), @)-(ii), (3)-(i), (4)-(v)
(iv)
() (D)-(), (2)-(ii), (3)-(iv), (4)-()
Match List - I with List - II :

List - I
(1) A pair of chromosomes extra with diploid )
(2)  One chromosome extra to the diploid (ii)
(3) One chromosome loses from diploid (i)

(4) Two individual chromosomes loges from diploid  (iv)
@ (1)) -G, G)-6), @)ty

(b)  (1)-(), (2)-(id), B)-(ii), (4)-(iv)
© WG @), Gr), (8-
(d)  (D)-Gid), (2)-(i), (3)-(v), (4)-Gi)
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(b) Gravitational Water
(d) Chemically bound Water

LL_iguwiev - 11
CorGearmGamrd

QL L_grGamhl
LG&)J@EWL&

@Qr e CurGearmGaml

List - II
monosomy

tetrasomy
trisomy

double monosomy


katrathu kalvi


www.freetnbooks.com

8332
5 :

&1 1 gflwrs QurmBHL Gamareamwus Csire| CEws.
(2 b Bossan® - Wier
(2p) SIPEIEG - ojeedlwid Elir
(@) Gl @OSH - Beng. Cu
(7) s@T&SD e pgysam® - Wavigui
Identify the correctly matched pair :
(a) Rhizome - Musa
(b) Tuber - Allium cepa
(c) Stolon - Zingiber
(d) Sucker - Pistia

VG (@)UUU (@) UAG () UGA
Initiation codon is : :
(@ AUG (by UUU (c) UAG (d UGA

W Gpar @@uissTldpps @idurads oiflpsiu@ssiuiL sdndoy

Sndled :

) uwﬁgﬁaﬂum (<=,) QevedorL_meorm
(8) sl .mLISE (F) yCrmaminev
The invasive species introduced in India from South America :
(a) Parthenium (b) Lantana |
(c) Kappaphycus (d) Prosopis '

V‘l(sdl.ﬁlsifrsu@sucﬁrmg@m ergl L&l (H urrbuflwsSna &g;rrgreaurm:r@tb ?
(=t) Comid ulLrenfluflen ellengssaulen auigeuld
(=) Blrm9eSlev meorum weafler Hmib
(@) befisisaien Cord Hiptd
() <par Caal 2 HLs
Which one of the following is an example of polygenic inheritance ?
(@) Pod shape in Garden Pea
(b)  Flower colour in Mirabilis jalapa
(c)  Skin colour in humans

(d) Production of male honey bee
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